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(1) sinezg, cosﬁzﬂ, tand = — (2) sinezi, cosezg, tan6?:i
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#E3
(1) sin12°=0.2079 (2) cos48°=0.6691 (3) tan75°=3.7321

#E4
(1) sin@=0.4 XY, 0=24°
(2) tan@=05 XY, 0=27

®E5
A C=AB X cos36°
A C=BC X tanb4°
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A C=AB X c0s19° =100X0.9455=94.55 koT, 95 m
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A C
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(1) sin62° = cos28° (2) cos78° =sinl2° (3) tan67°= 1
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(1) sin64° = cos26° (2) cos58°=sin32° (3) tan83° =
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#WE17 0°=0=180° &£7%, tand=—2 DL ¥,

FA4E RLitE wHxEMHE BE

1. BC=x &<,

@ =1tan32°=0.6249 XVv, x=

X 0.6249

2.

(1) ERAED 1 SONHILT 2° THHNS, SN -MKABEICBWNT, /BAE=108°,
ZABE=36° ThHorNb,
BE=2X10c0s36°=2 0 Xx0.8090=16.18 X~-7T, 16.2
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CD? = (bsin A)?,
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(1) b=10, ¢c=8, A=45° Ok x, S—ibCSInA—l 10- 83m45°———20\/_
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(2) a=6, c=5, B=150° Lk, S—EcasmB—§56sm15O°*2

(3) S%-4-4sin60°— .§—4\/§

#E29 a=7, b=4, c=5 DL,
2 22 2 2 =2
(1) &REEH LY, cosA:Io tci-at _ A +5 -7 :_iz_l

2bc 2.4.5 40 5
2
(2) sinA= 1_(_% ZMZZ\/E
5 5 5
(3) S—%bcsmA—E 4.5. 2\/__4\/5

H$E30 a=13, b=14, c=15 DkLx,
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Lo, S%ca5|n8%-8-55in60°20-%10\/5

StT+8  10r =103 <hHo,E, r—43

(2) S%r(a+b+c)

HE #EB1 =AFRO3VUOEENa=5, b=6, c=9 DLx,
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s =,[s(s—a)(s—b)(s—c) = /10(10—5)(10—6)(10—-9) =+10-5-4-1 =102

#ES31
AABHIZBWT, H=180° —(60° +75° )=45° THDHND,
Eemry, — - 100 BH=100\/§-£=50\/E m

sin60°  sin4h° 2

YoTEA=AFKBPHIZEB T, PH=BHtan30° =50\/€~%=50\/§ m
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(1) BE=+10, DE=4+5, BD=+13 Th3»5, ABEDIZHEWNT,



10+5-13 2 2
2.410-45 1042 10
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REEF LY, cos£ZBED =

(2) sinZBED = 1—{

s — L BE . DEsin /BED :1\/5-\/5-&:1
2 2 10 2
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FA4E REELFFE WHREMRE £

(1) % EHLY, BDZ—82+52—2-8-5005600—89—80-%—49 ThoHHMG, BD=7

(2) ABCDIZBWTC, C=120° THDHNDH, CD=x &L,
AEEL Y, 77 =x*+3°-2-3-xc0s120°
49=x*+3x+9 kb, x*+3x—-40=0
(x+8)(x-5=0 Xbv, x=CD=5

(1) a=9, b=4J2, ¢c=7 oL x,
b2+c’-a’ 32+49-81 0
2bc 2.4J2.7 562
(2) a=+7, b=v6, c=2 nrx,
b>+c*—-a* 6+4-7 3
2bc  2.46-2 46
(3) a=2J10, b=4, c=4 O x,
b®+c’-a® 16+16-40 8 1

=——=—-2<0 ThirNb, Altim
2hc 2-4-4 32 4

Cos A= =0 TbodND, AILEA

CoOs A= >0 ThiHNb, AlTHA

COS A=

(1) AB=6, AD=4, ZA=60° OFFILIABCD
Ssz%AB-ADsin60°=24~§=12\/§

(2) ¥R 2OMHICNET L IE+ A

Slex%-Z-Zsin30°:24-%: 12

7
A
ZA=120° Zhb, LBAD=ZCAD=60" s &
ZIT, AD=XEBWVT, ThENOZAEORMEZRD L &, 60° TE0°
AABC—%~5~3Sin120°=$ B D

AABC=AABD+AACD=%-5xsin60°+%-3xsin60°:2\/§x

ThHEND, 2\/§x=¥ LpLL, ADZXZ%
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1.

(1) BH=x &£B8<L, AH=PH=X+10, PB=2Xx ThV,
PH: PB=X+10:2x=+3:2 ThHhohb,
2+/3x = 2(x +10)
2(v3-1)x =20

10 10(+/3+))

J3-1 2

(2) PH=+3x=5B++/3) m

2.

LoT, x=

:5(\/§+1) m

TERADPOHUBCIZFALEEBROELAZH, BH=X B L&, A _ 1. D
4-X2=T7-{4-(x+1)¥=7-(B-x)*=7—(x*—6x+9)
=_—x*+6x—2

5T, 6x=6 LV, x=1 ThHharnb, L 1
AABHIZ, H=90° , B=60° OHEA=ANCTHSD., Ty
LT, AH=43 1L,

B OHERS = —(1+ 4)4/3 = SJ—

3. 6, B=15°, C=45° mkLx,
(1) A=180° —(15° +45°)=120° THiNH,

c J6
TREEED, — FoT, c=46-52. =2
= sind5°  sin120° J3 2

(2) &wEHEY, 6=b*+4-2-2-bcos120°=b’*+2b+4 A
b’+20-2=0 & b>0 kb, b=-1+3 ¢ b
NN 50 45°
(3) EZERLID, — = —
I sin15°  sin120° B 5— C
1 J3_J3-1_J6-+2

ko, sin15°=(/3- 1)_7,77 73 .

4. A=60° , a:b:2:1,c:6 D& X,
(1) a=2k, b=k &<, C
K 2k
EAEBLL Y -
e sinB_ sin60° k 2%
B N

Lo, sinB=%sin60°=

(2) LgEsry, 4k®>=k*+36—-2-6-kcos60° = k? —6k +36
3k2+6k-36=0
K24+2k-12=0 & k>0 kY, k=b=-1+13



5. b=2J3, c=2, C=30° mLx,

IERERH LY,

sinB—2\/§-%sin30°—T Eh, B=60°, 120°

B=60° ®t&, A=90° ThVh, a=4
B=120° o&%, A=30° ThY, a=2

(2)

MIcNEETAIUATZEABCDIZBWT, AB=2, BC=1,
CD=3, DA=3 ThdLx, LA=0L+T5,

(1) WABABCDIXHICNETH DT, LC=180° —0

243 2
sinB  sin30°

e

- T, cosC=cos(180°—h)=—-cosf Th s,
AABDIZEBWT, RIXEHLD,
BD®*=2>+3"-2.2-3.c0s@ =13-12c0S6@ -+ @
ABCDIZEBWT, RIXEHLD,

BD? =1 +3*-2-1-3-c0s(180°— A) =10+6c0S8 -+
O, @ &b, 10+6c0sf =13-12c0sO &< &,

coso=> -1
18 6

sin A=sin@d =+/1-cos 9—1/1 1/ —T&;D

sinC =sin(180°— A) =sin A L b,
S=AABD+ABCD

3./35
4

:3-2-3sinA+1-1-3-sinA:gsinA:
2 2 2

7. AE=410, AF=8, AH=10 &323&x.
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(2)

AB=EF =+64-10 =+/54 =36
AD=EH=4100-10=/90=3/10 XV,
FH=+/54+90 =144 =1 2

Xo>T, AAFHIZBWT, s=%(8+10+12)=15 LB L,

s =,/15(15-8)(15-10)(15—12) =+/15-7-5-3 =157
Witk AE FHOERV I

—%AE %EF EHle/_O = 9\/_—90\/— 156
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DEZ1OENMEAABCDIZEWNT,

WBCOHEEZM, LZAMD=6, THRANMOLYHBCD

W FALEEROREZHETDHE, AM=DM THY,
DH:HM=2:1 Thsdrh1b
HM 1 V3

cos@ = == ThVH, AM=DM=— Thd,
AM 3 2

2
DL X, sinez‘/l—(lj :& ThHHND,
3 3
AH—AMsin0=¥\/2§ V6

3
V3 _ 43

72, ABCD= S%-l-l-sinGOc’:
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